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Q.1. Differentiate the following with respect to x.

a) y =sin 3x (1m)
b) f(x) = = (2m)
¢) y=In(x*-4) (1m)
d) y=xInx (2m)
e) y= sin2§ (2m)
) yelog, Y (3m)
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Q.2. Find /.,7 J e
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a) [ oo »‘// (2m)
//
b) felax (2m)
/ / _ i J 2y x 4 pe )
Qe 2l (3m)
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Differentiate x ¢ ety - f“t"’»@m)

Q3. ()
\@ Hence find‘:fx e*dx

Q4. (i) State the amplitude and period of y=3 sin 2x (2m)
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(i) Hence sketch y = 3 sin 2x for 0= x <27 (2m)
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Q.5. Find theWbounded by the curve y =e?, the x axis and the

lines x = In 2 and X=Im
(4m)

Q.6 Find the@generated when

the area bounded by y=In x , the x axis
and

y=In2 is rotated about the y axis. Give
your answer iil exact form
(4m)

S,

+

\n

_\'I

bras .1{}%},)
I
7g)

:
T F4

Ay= TaC A

. In 2
V= nﬂ'/ 7(,;
o -

1
\/ = 2711 \(’)i\'w} (f{“}
2 - -
'
2T o Qg y oy
= i g .
< . 570 U=
~ ot 1 u'=1
- 77 5’ uy - ;{\,lh\ L
P - ,(;,i?l ™y
4 N I
— 2 | G
“[( yelur Jo ¢
- Bz - ,\7«*1\
20 [ dn2e - (&) /
- 1 { n oot 4 //
= 27 iQdmt — An2a)

IS22950%
_la. U= s10 3 4 ‘f)"j’“ L'MCMD
_ 1oa g = ZE L
ﬁ —-8e0-$3 ¢ ‘/ 9 = o o
- L4 S
— D ?(1) W% ST
S ()= sectx. Q%/A}/ S L S R Y
- n ) 3k-2 “
kjm = 7( e / T SR I
x4 = .S » (2oeea| wc o
EE Sl
Al g > x A b fﬁ " A _
[j( =g A yu]
- e ION -
LR
2 L.
N L
el geiatk -(m})

- L i
Y= dsn Feosh L.

\

B S
S0 5> 085 \/

7
/Zg//// i

é// /1/%52’/

7 A
Vs




. (\ y = )Lej(
: v

/
(S22350% 4 1$2275DY
S e % A ’
we X vee™ - e an
w= vz @,1 )
.4
. Lf;t,l\l"r,,vu’ fal
= qet 4 e 2 |3e* M
,-n‘ ' / V /?M(
- Xe < v
1 ) vf‘;’QM,Z
. 1 ~ z
N 7277777 R T P v N = ale )
= F ~ {72 Aﬂb\)
N LXQK&% = [16*7:'_ f e Xdw - Z(M?Mz— _QT)
< [ie-0]- [T < 2(B-0) /L
= 200 -2 uamiz > v N
- Q~(€'l>
nﬁ-«bm o
= l ‘/ % D'j: .
l{‘) Y. 35tnday
V=1 . X dy
a=3 \/ o4 g N
o on o = ] (e¥) 4y
" 2
= Mgecs \/I - ICM ezs dy i
u\ ,ﬂ - 1;‘: [M.LZQ %5 OQU’
“"Jo
3 ~ w3002 Lt o PR i ’
A vz & . %
; \ . /E\ . \/ - S o\ /
R g ST T
! :
B Y ANAN V




